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QUESTION 1

Select which of the following correctly describes the message reception processing circumstances when a well-formed
XML document has been sent/ received. [Transmission] Character encoding for the transmitted XML document is
"UTF-16", and no XML declaration has been specified. The media type for transmission is set as "application/xml"
without charset parameter. [Receipt] Implementation follows RFC3023 and XML 1.0. The receiving system first identifies
the media type, and then processes the XML document. At the point that character encoding has been determined, an
XML declaration (including encoding declaration) is appended automatically to the head of the received XML document.

A. The media type identification appends , at which point the XML processorthrows an error when processing the XML
document

B. The media type identification appends , at which point the XML processor throwsan error when processing the XML
document

C. Character encoding is determined by the system locale. Since the XML declaration is appended accordingly, in
certaincases the XML processor will throw an error when processing the XML document

D. The character encoding is identified from the XML Document binary. An XML declaration () is appended accordingly

Correct Answer: D

QUESTION 2

Which of the following does not correctly describe WSDL (WSDL 1.1)?

A. Under the WSDL definition, you can use the import element to import another WSDL definition
B. You do not need to specify a binding element when creating a WSDL definition

C. When a service operation is a "One-way" type, you can specify a fault element to designate the error message type
asthe child element of the operation element within the protType element

D. When a service operation is a "Request-response” type, you can specify a fault element to designate the error
messagetype as the child element of an operation element within the portType element

Correct Answer: C

QUESTION 3

Push the Exhibit Button to load the referenced "XML Document".
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[XML Document] (<
<Infinished xmlns="urn:xmlmaster: TNFINISHED ™
<List>
<Morker =mlns='urn:=mlmastcer: MOREERY
Maucs—"J0=LL WoLhiall®/ -
<horivicy xmlns="urn:xmlmaster:VISITY
Code="0002 "=
<DateTime>2004-07-01 13 :00</DateTime>
<Location xxmlns="urn:xmlmaster : CONTLCTM>
<MName>John Smith</Name:>
<Addressr31injuku Ward Tokvo</Lddress:>
</ Locations
<Jokh Proceduse="Install A:r Conditioner”
Time="z"/ >
LAl US S COMPLETED - S S enL WS
< Aotivitys
<horvivicy x¥xmlns="urn:xmlmaster:VISIT®
Code="0003 "=
<DateTime>2004-07-01 16:00</DateTime>
<Location #mlns="urn:xmlmaster : CONTLCTM:
<MName>Een Iiller</Name>
<hddress>3iibuya Ward Tokyo</ Address»
</ Locacions>
<Joh Proceduse="Clean air conditioner™
L1mE=" sy >
<3catusx>MATITING</ Status>
</ Activitys
</ List>
</ Unfinisheds>

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.

[DOM Processing]
Process ZML usiag the folloving method.
prrincXZML{ doec ):
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc ) o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNswe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster :VISITY, "Aotivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: xmlmwaster :VISITY, "DateTime™).item(0) ;
System.out . arint (Mot Visited:™);
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (7 Worker=" 4 name)
node = elem.getElementsbyTaghamels (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (")

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)
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B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document". When processing the "XML Document" according to
the method shown by "SAX Processing," which of the following correctly describes the output results (print and/or printin
method output)? Assume that the processed XML Document has no indents (ignorable white space such as line feeds,
tabs, etc.).
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[2AX Proceasing]

Uze the following "ContentHandlerImpl™ clasa, and parse the ENL Documwent using 3AZ.
The SAX parser 1is namespace avare.

bssume no execution errors.

class ContentHandlerImpl extends DefasultHandler {
hoolean vigiting, date, name:

public woid atartElement |
String uri, 3tring locallame, String oi=mne, ALAttributes attr)
throws 3AXException {
if | uri.equalsi("urn:xmlmaster:VISITY) £& localMNamwe.equals ("ictcivicy™) )
wvisliting = true;
if | wisiting ) {
date = locallame.equals ("DateTime™) ;
name = locallName.edquals ("Name™) ;-
if [ locallName.edquala ("Jaokb™) |
Syatem.out.printlni attr.getValue ("Procedure™)
b
}
public woid endElement (3tring uri, String locallame, 3String oiizne)
throws ZAXException |
if [ uri.egquala{"urn:xmlwaster :VISIT™) £& locallNatwe.equals ("Actiwvity™) |
visiting = false:
if (date] {

System.out.print (" ——— ™y ;
date = false:

} oelze if (name) |
System.out.print ([ F*% )
name = false:

}
¥
public woid charactera(char[] ch, int start, int length)
throws SAZException f
if [ date || natme )
System.out.,.print | new Itringich, start, length) |;

[EML Document]
<List ¥mlns="urn:xmlmaster:LI3T">
<Date>2004-07-01</Datex>
<Worker Name="Jeff Workman"
xmlns="urn: xmlmaster: TOREER™ />
<WigitLiat>
<hoctivity xmlns="urn:xmlmaster :VISIT"
Code="0001">
<DateTime>2004-07-01 09:00</DateTime:
<Location xmlos="urn:xmlmaster i CONTLCT™>
<MName>He len Edwards</Name:>
</ Location>
<Job Procedure="Inatsll freezer™ Time="1" />
</Retivityr
chotivity xmlns="urn:¥xmlmaster :VISIT"
Code="0002 ">
<DateTime>2004-07-01 13:00</DateTimex
<Location xmlns="urn:=mlmaster :CONTLCT™>
<MName>John Smith</Nams>
</Location:
<Jalh Procedure="Install alr conditioner™
Time="z2" /=
<fhonivitys
</VizitList>
</Liat>

A. Install freezer 2004-07-01 09:00 --- Helen Edwards *** Install air conditioner 2004-07-01 13:00 --- John Smith ***

B. 2004-07-01 09:00 --- Helen Edwards *** Install freezer 2004-07-01 13:00 --- John Smith *** Install air conditioner
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C. 2004-07-01 09:00 --- Helen Edwards *** 2004-07-01 13:00 --- John Smith ***
D. Nothing is output.

Correct Answer: B

QUESTION 5

Use DOM programming to create XML according to the schema defined by NewsML (portions modified for this
question). Push the Exhibit Button to load the referenced "XML Document".

[XML Document]
<NewsHML:>
<MewsItem:
<ContentItem:
<DataContent></ataContents
</ Content Item:-
«/MNewsIcems:
</MNewsML>

Load the "XML Document" and update the XML according to the method shown by "DOM Processing". Select which of
the following correctly describes the results of performing a validation check on the created XML against the schema
("DTD" and "article.dtd"). Assume that "article.dtd" can be parsed normally during validation. The existence of a
document type declaration during validation is not reflected.
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[DOM Processing)
Create ZML using the following method.
Document output = createXZML (| doc ) !
The war i=glile doc here relferences Lhie Docwnenl. instance ol Lhie losded ENL Docooernl .
Lzsume no execution errors.

public static Docunent createXML | Document doc ) f
Elerent contentElement = [(Element)doc.getElementsEyTagllame |
"DataContent™) .item(0) ;
Elerent articleElement = doc.createElement | "article™ | :
contentElement..appendChild| articleElement ) ;
Text textMode = doc.createTextMNode | "3tart XML Master: Professional Exam™ ) :

art_cleElement.appendChildi textNode ) :

recturn doc:
H

[TyTT]

<!ENT.TY % article 3YSTEMN "article.dcd™-
tarcicle;

<!'ENT_TY % data " (Encoding | DataContent ) ?"=
< !ELEOENT ContentItem [ ¥datar )=

<VATTLIST ContentItem Href CDATLI #HIMPLIED >

S !ELEAENT Encoding fdata;
<1ATTLIST Encoding HNotation CDATL #EREQUIRED >

<!'ELEHENT DataContent ANT:

<!ELEIENT NewsItem ([(Contentltem®]>
<!ELEHENT NewsML (HewvsItemt) =

[article.dtd]
<!ELEHENT article (#PCDALATL) >
SVATTLIST article title CDATA EREQUIRED =

A. The created XML does not include required attributes; therefore, is not valid against the schema

B. The created XML has an illegal attribute value; therefore, is not valid against the schema

C. The created XML does not follow element type declarations; therefore, is not valid against the schema
D. The created XML is valid against the schema

Correct Answer: A
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